Addition and Subtraction of Whole Numbers ( @

Methods Name
L Perform the following addition problem using 8 different methods:
4837 + 3519

(a) Concrete (Base 10 Blocks)
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(b) Denominate (c) Expanded
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(d) Partial Sums, Left-to-Right, and Scratch (e) Lattice (f) Standard or Traditional
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Perform the following subtraction problem using 3 different methods:

342 -86

(a) Concrete (drawing Base 10 Blocks) (b) Dutch
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(c) Standard Algorithm
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Multiplication and Division of Whole Numbers (;&/—3
Methods Name E[/j

III.  Perform the following multiplication problem using 5 different methods:

43x 28

(a) Concrete (Base 10 Blocks)

+Tle 10(44561'-2.’0'\?5}
‘H‘Gr- MCbJ lo;gff‘;f‘ L{ F{J‘f’f
Rlas for | bk,

Hhun Y 19
(b) Partial Products (c) “FOIL” (d) Lattice
43 (4o F)@+3)
f-?-‘z-gq— = g0t 3wt
{ 2—0 _
0
300
(2 04
(e) Russian Peasant (f) Japanese (g) Standard or Traditional
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IV.  Perform the following division problem using 2 different methods:

463 +5
(a) Concrete (Base 10 Blocks) (b) Repeated Subtraction (the efficient way)
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